Radial non-linear wave equation

> wth(Exterior):
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=> depend([u], F);
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[ > deq: =Diff(u, t$2)=Diff(u, r$2)+mDiff(u,r)/r+F
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| The constraint option removes the linear cases.
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|, casesplit):
> casepl ot (eq, pi vots);
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> symetry, eq: =find_symetry(deq, Constrai nts={diff(F, u$2)<>0, nx>0}
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| > sol n:=rifsol ve(eq, Paraneters={F}):

| > G =one_paraneter(symetry, soln):

> for i from1l to soln[casecount] do print(i,di]) od;
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| Case 8 has subcases. Note that the cases are based on pivots and so are not necessarily distinct.
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